Bemerkung 3.32: Trigonometrische Funktionen

Rekursive Auswertung von cos(mx) fuer x = 1.0e-004

| cosmx fur z = 1.OE—4|

Drei-Term-Rekursion d
see 10'8 Gekoppelte Zwei-Term-Rekursionen |
numstab.m

) 1010_ |
X = 1.0e-4; %
cx = cos(X); sx2q = sin(x/2)"2; LE
c3 = zeros ( mmax, 1 ); L 1
c3(1) = 1.0; c3(2) = cx; = 10 iy
for i=3:mmax, ©
c3(i) = 2*cx * c3(i-1) - c3(i-2): o
end;
-14
c2 = zeros ( mmax, 1 ); 10 '} il
cdel = zeros ( mmax, 1 );
c2(1l) = 1.0; c2(2) = cx; cdel(1l) = -2*sx2q;
for 1=2:mmax-1,
cdel (1) = -4*sx2q * c2(1) + cdel(i-1); 1046
c2(i+l) = c2(1) + cdel(D); 0 5000 10000 15000

end;
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